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$EVHQW $QGUHZ %HQ@@HWHNW VAWR OHMHNLQEFWE
1RQ YRWLQJ DWWHQGHHV /\QQ &DUOLQ

&KDLU /IDXUHO /KWWHHWQEFDOBHAUJGWHU DW
ODUFK PLON VWIS ZRIYHG DV VXEPLWWH
20G % XVLQHVV XSGDWHYV

$ %XGJHW PRGHUQL]DWLRQ XSGDWH
&DUOLQ €eXe"

OHWWHU IURP WKH FDIPBXTHQN. BMDWWRRGD\ VKDUL

WKH EXGJHW PRGH U QLY DMMISPQ $3W R FINRE RGKFH. G XBWH RQUIRR U (

\HDU 7KH VWHHULQRBREOUVRYHIK LG LEDK HS IKRFHL SORHVHQG R

D ZHHN RU WZR IRU HFQWS XV¥KFHRE®PVFRY HUWSKRWXH KZ 56 OLOX Q

OHPEHUV Rl WKH 6 WHHUKQY R RRPHMAM ,RZD QEEQLL HOERH Q

YLVLWLQJ 2KLR 6W D WBIOWR[WRAMHING DHYLVLW ZLWK WKH
)FWXDO PHWULFV WR VHUYH DV FRVW GULYHUV IRU VXSSRUW IXQFWLF






$FWLRQ LWHP IRU QRP S&RPGWLRNK HH WHRAWDRQG IR RBR B8 XWUKHU
1HZ % XVLQHVV

$ )XWXUH SODQV NRWELIWOBQLYHBRWWHURRLRIOGWWHQJ 0D

ILWWUHOO UHSRUWMEB LRQWWOKHDGHBNQLS PHHWLQJ EHWZHH



